

$\cot \frac{\pi}{3} \times \frac{\pi}{3} = \cot \frac{\pi}{6} = \sqrt{3} \rightarrow \sqrt{(\sqrt{3})^2 + 1} = 2$ $\swarrow \searrow$ $\sqrt{3} \quad 1$ < 1	۱
$f\left(\frac{1}{r}\right)^{\frac{1}{2}} = \frac{1}{r} = g\left(\frac{\pi}{3}\right) \Rightarrow \frac{1}{r} \xrightarrow{r \rightarrow \frac{1}{2}} 2 \rightarrow f(r) = \frac{\sqrt{10}}{2}$ $g(\sqrt{2}) = \frac{\sqrt{2}}{1-\sqrt{2}} \times \frac{1+\sqrt{2}}{1+\sqrt{2}} = \frac{\sqrt{2}+2}{1-2} = -\sqrt{2}-2$ $\downarrow$ $[-\sqrt{2}-2] = (-\infty)$	۲
$f\left(\frac{\pi}{3}\right) = \frac{\sqrt{2}}{2} \quad g\left(\frac{\sqrt{2}}{2}\right) = \frac{\sqrt{2}}{2} \sqrt{1-\frac{1}{2}} = \frac{\sqrt{2}}{2} \times \frac{\sqrt{2}}{2} = \frac{1}{2}$ $= \left(\frac{1}{2}\right)$	۳
الف) $f \circ g(n) = \varepsilon \rightarrow 4 \rightarrow 5 / 2 \rightarrow \varepsilon \rightarrow 5 / 8 \rightarrow 11 \rightarrow 12 / 11 \rightarrow 10 \rightarrow 13$ $= \{(\varepsilon, 5), (2, 5), (4, 12), (11, 13)\}$ ب) $g \circ f(n) = \varepsilon \rightarrow 5 \rightarrow 4 / 9 \rightarrow 5 \rightarrow 8 / 11 \rightarrow 12 \rightarrow 7 / 10 \rightarrow 12 \rightarrow x = \{\emptyset\}$ ج) $f \circ f(n) = \varepsilon \rightarrow 5 \rightarrow x / 4 \rightarrow 5 \rightarrow 8 / 11 \rightarrow 12 \rightarrow x / 10 \rightarrow 12 \rightarrow x = \{\emptyset\}$ د) $g \circ g(n) = \varepsilon \rightarrow 4 \rightarrow 11 / 2 \rightarrow \varepsilon \rightarrow 4 / 4 \rightarrow 11 \rightarrow 10 / 11 \rightarrow 6 \rightarrow 7$ $= \{(\varepsilon, 11), (2, 4), (4, 10)\}$	۴
$f(g(\varepsilon)) = 2 \rightarrow g(\varepsilon) = 4 \rightarrow a = \varepsilon$ $g(f(12)) = 1 \rightarrow f(12) = 5 \rightarrow b = 5$ $(a, b) = (\varepsilon, 5)$	۵

$$a(ax+b)+b = a^2x+ab+b = \varepsilon x + \psi \quad f(-1) = -1$$

$$a^2 \varepsilon \rightarrow a = \sqrt{\varepsilon} \rightarrow \sqrt{\varepsilon}b+b = \psi \rightarrow b = 1 \quad \textcircled{1} \rightarrow f(x) = \sqrt{\varepsilon}x+1$$

$$\rightarrow a = -\sqrt{\varepsilon} \rightarrow -\sqrt{\varepsilon}b+b = \psi \rightarrow b = -\sqrt{\varepsilon} \quad \textcircled{2} \rightarrow f(x) = -\sqrt{\varepsilon}x - \sqrt{\varepsilon} \rightarrow f(-1) = -1$$

$$f(x)+\psi = t \rightarrow x = \frac{t-\psi}{\varepsilon} \Rightarrow g(t) = \psi \left(\frac{t-\psi}{\varepsilon} \right) - \varepsilon = \frac{\psi t - \psi^2}{\varepsilon}$$

$$g \circ f(-1) = g(f(-1)) \rightarrow g(-1) = \frac{\psi(-1) - \psi^2}{\varepsilon} = -1$$

$$x \in \mathbb{D}f \quad \left. \begin{array}{l} \text{D} f \Rightarrow x + |x| \geq 0 \rightarrow x \geq -|x| \rightarrow \text{D} f \supset \mathbb{R} \\ f(x) \in \text{D}g \end{array} \right\} \rightarrow$$

$$x + |x| \neq 0 \rightarrow x \neq -|x| \rightarrow x > 0$$

$$\left. \begin{array}{l} x + |x| \neq 0 \rightarrow x \neq -|x| \rightarrow x > 0 \\ x + |x| \neq 1 \rightarrow x \neq 1 \end{array} \right\} \text{D} g \supset (0, +\infty) - \{1\}$$

$$\sqrt{1-x^2} = \sqrt{x} \sqrt{1-x^2} \rightarrow \sqrt{1-1+x^2} = \sqrt{1-x^2} = \sqrt{x^2} + \sqrt{1-x^2}$$

$$= x + \sqrt{1-x^2} \rightarrow 1-x^2 \geq 0 \rightarrow x^2 \leq 1 \rightarrow -1 \leq x \leq 1$$

$$\Rightarrow \text{D} f = [-1, 1]$$

$$\text{D} f = -1 \leq x \leq 1 \cap \text{D} g = x > 0 \rightarrow [-1, 1] \cap \{x > 0\} = (0, 1] \rightarrow \text{D}(f \circ g) = (0, 1]$$

$$\text{a)} f\left(\frac{x+1}{x-1}\right) = \varepsilon x + \omega \rightarrow \frac{x+1}{x-1} = t \rightarrow tx - 1 = x + 1 \rightarrow x = \frac{t+1}{t-1}$$

$$f(t) = \varepsilon x(t-1) + \omega = \frac{\varepsilon(t-1) - 1}{t-1} \rightarrow x = \frac{t-1}{t-1} = 1$$

$$\text{b)} f\left(x + \frac{1}{x}\right) = x^\psi + \frac{1}{x^\psi} \rightarrow \left(x + \frac{1}{x}\right)^\psi = x^\psi + \frac{1}{x^\psi} + \psi x \times \frac{1}{x} \left(x + \frac{1}{x}\right) \rightarrow x^\psi + \frac{1}{x^\psi} = t^\psi - \psi t$$

$$\rightarrow f(t) = t^\psi - \psi t \rightarrow f(x) = x^\psi - \psi x$$

$$g(1) = 0 \rightarrow g(\sqrt{x}) = 0 \rightarrow f(x) = x\sqrt{x}$$

$$g \circ f(x) = g(f(x)) = 0 \rightarrow f(x) = 1 \rightarrow x = 1$$

$$\rightarrow f(x) = \sqrt{x} \rightarrow x = 1$$